PartNo DE EN
1 1099 9134 W |Luftsprudler innenliegend mit Dichtung und HUlse aerator sleeve inside with seal
2 |099 4104 W |K&ppchen fir Hebel, matt white cap for handle, matt white ] OO ] 8] 4 3 W
3 10992 1105 |Madenschraube M5 zum Hebel grub screw M5 for handle
4 1099 8009 W |Kugelkappe, matt white cover cap for hexagonnut, matt white
5 099 8004 W |HUlse, matt white sleeve, matt white 09082022
6 (099 9914 W [EHM-Armaturenhebel komplett mit Logo, matt white lever for single lever mixer comp. with logo, matt white
7 1099 9707 W [Anschlussstick 1/2", L=60 mm zum Auslauf, matt white connection piece for wall spout 1/2", L=60mm, matt white
8 |099 9804 W |Rosette mit O-Ring, matt white rosette with O-ring, maftt white
9 1099 1800 |Madenschraube M5 grub screw M5
10 |099 9705 W |Auslauf 140 mm incl. Luftspurdler, matt white spout 140 mm incl. aerator, matt white
111099 9869 W [Schub-Rosette @80mm fir Wandauslauf, matt white push-rosette @80mm of wall spout, matt white

STEINBERG




	100 1814 3 S
	Zeichenansicht3




